CITIZEN

Service Manual

Model : iDP-3110

Rev.

Issued

Japan CBM Corporation
Information Systems Div.




iDP-3110 Service Manual

Contents
1. HOW 1O reMOVE thE UPPES COVEN......c. ittt ettt sttt stttk eb e bbbt bbbt bbbttt b e 3
2. How to remove the Printel MECNENISM ..o e 3
3. HOW t0 remove the CONtrol BOBI ..........ccviieiiiiiieiee et sbe e se b b senensesreseeneas 4
4. HOW t0 remove the Paper HOIOEY ..ottt bbb bbb e bbb 4
5. HOW t0 remove the Operation PanEl...........ccocviiieeie ittt st besseena e s besreeneeeesne e 5
6. HOW 10 remove the Paper HOOK ..ottt bbb 5
T PAIES LIS ettt bbb b b bR b bR bR AR R R R e R h bR bt b et b b e b 6
S T o] a0 L= YT 10
9. OP PCB PartS POSITION .......cuciteiiitetiiertisisteiesiete sttt bbbttt bbbt b et b bt e b et b et s b b se e bt s b bbb e e b e b s e 11
10. OP PCB Unit SChematiC DIGOIAIM..........ciueirrieirieieriete sttt sttt st st b e bbbttt b et be e ebe e e 12
11. Control Board PartSPOSITION ..........coiireiieirriccnee et 13
12. Control Board CirCUIT DIGOIAIM ........ccueirieuiririeirieie ettt sttt bbbt b et s b e e b et bt e bbb b e ebe st e 15

CITIZEN 2



iDP-3110 Service Manual

1. How to remove the Upper Cover

(1) Unfasten 2 screws M3x8 on the Bottom Cover.

(2) Lift the Upper Cover in the arrow direction removal.

(3) Unfasten 2 screw, The Printer Mechanism mounting screw, Then remove the Shield Plate from
the Printer Mechanism.

(4) Disconnect the 2 Connectors from the Control Board.

Connector

2. How to remove the Printer Mechanism

(1) Remove the Upper Cover.
(2) Unfasten 4 screws M2.6x8 and M 2x6 as shown bel ow.
(3) Lift the Printer Mechanism in the arrow direction.

Printer Mechanism

CITIZEN 3



iDP-3110 Service Manual

3. How to remove the Control Board

(1) Remove the Upper Cover.

(2) Unfasten 2 screws M 3x8 as shown below.

(3) Shift the Control Board in the arrow direction (1).

(4) shift the Control Board in the arrow direction (2). and remove the Power Switch from the Bottom Cover.
Then lift in the arrow direction (3).
Remove the shield Plate together with the Control Board.

Power Switch
Shield Plate

4. How to remove the Paper Holder

(1) Remove the Printer Cover.
(2) Unfasten a screw as shown below.

Paper Holder

CITIZEN 4



iDP-3110 Service Manual

5. How to remove the Operation Panel

(1) Remove the upper Cover.
(2) Unfasten 2 screws M2.6x6 as shown below.

Operation Panel Unit

6. How to remove the Paper Hook

(1) Remove the Printer Cover.

(2) Release aLock Hook as shown below and lift the Paper Hook to the upside.

(3) When you set this Lock Hook, set the side of Hook to the Upper Cover. and according to the guide,
inset the Lock Hook until thisislocked completely.

Upper Cover

Paper Hook

Lock Hook

' Bottom Cover

CITIZEN 5



iDP-3110 Service Manual

7. Parts List
PARTSLIST iDP-3110RF / PF
EXPLODED VIEW
Ref. No. Parts No. Description Qty Remarks
1 E 62010490 |Top Case 1
2 E 5200-150 |OP Sheet 1
5 MD910 Printer MD910-SS <1> (24 Cal.
MD911 Printer MD911-1L <1> |40 Caol.
7 E 4000-850 |OPPCB Assy 1
10 E 6611-400  (Paper Holder-L 1
11 E 6611-405  (Paper Holder-R 1
15 E 62020020 [Bottom Case 1
16 E 6302-290 |Rubber Foot 4
18 E 4019-160  [Shield Sheet 1
20 E 70010310 |PCB Assy iDP-3110-24RF <1> |230V ONLY
E 70010320 |PCB Assy iDP-3110-40RF <1> |230V ONLY
21 E 70010330 |PCB Assy iDP-3110-24PF <1> |115V/230V
E 70010340 |PCB Assy iDP-3110-40PF <1> |115V/230V
20 E 70010350 |PCB Assy iDP-3110-24RF <1> [USA only
E 70010360 |PCB Assy iDP-3110-40RF <1> [USA only
24 E 6204-940  |Printer Cover 1
25 E 6204-950  |Printer Cover-H <1>
34 76G23760 Screw M2x6 2
35 76G22839 Screw M2.6x8 3
36 76G22796 Screw M3x8 3
37 76G40207 Screw M3x10 2
38 76G42133 Screw M2.6x8 / PW 1
39 76G22270 Screw M3x8 2
40 E 4900-080 |Harness 25-0263 1
CITIZEN 6




iDP-3110 Service Manual

PARTSLIST iDP-3110RF / PF
CONTROL BOARD
Ref. No. Parts No. Description -RF -PF
IC 1 E 104-390 IC CBM909PC-2DU (24 Cal.) <1> <1>
E 104-400 IC CBM909PC-4DU (40 Col.) <1> <1>
2 E 2010100 IC TC74HCOOP 1 1
3 E 2010130 IC TC74HC04P 1 1
4 E 2010070 IC TC74HC14P 1 1
5 E 2010040 IC MAX232CPE 1
E 202-811 IC TC7407 1
6 E 2010321 IC TC74HC74P 1
E 201-930 IC TC74HC373P 1
7 E 202-860 IC PST520E 1
E 2010321 IC TC74HC74P 1
8 E 202-860 IC PST520E 1
TA 1,2 E 390-220 Tr.Array  LB1235 2 2
TR 1 E 319-117 Transistor 2SA1175HF 1 1
2,12 E 379-060 Transistor 2SD1802ST 2
2,10 E 379-060 Transistor 2SD1802ST 2
3,5 E 359-090 Transistor 2SC2785SR 7
7-11
3,5 E 359-090 Transistor 2SC2785SR 5
7-9
4 E 327-070 Transistor 2SB1202ST 1 1
6 E 379-070 Transistor 2sD1817 1 1
12 E 359-100 Transistor 2SC4685 1
14 E 359-100 Transistor 2SC4685 1
D 1,2 E 400-220 Diode 1S1554 2 2
3 E 400-270 Diode 151588 1 1
4 E 400-041 Diode 1S2076 1 1
ZD 1 E 413-033 Zener Diode RD13EB2 1 1
2,3 E 405-130 Zener Diode RD5.6EB2 2 2
OosC 1 E 501-280 OSC CSA4.19MG 1 1
R 1-3 E3473-041 |Resistor 1/4W  47KOHM 8
13-15
17,20
R 1-3 E3473-041 |Resistor 1/4W  47KOHM 8
13-15
17,18
CITIZEN 7



iDP-3110 Service Manual

PARTSLIST iDP-3110RF / PF
CONTROL BOARD
Ref. No. Parts No. Description -RF -PF
R 4,22 E3103-041 |Resistor 1/4wW 10KOHM 4
24,25
R4,16,21| E3103-041 |Resistor 1/4wW 10KOHM 5
23,24
R 56,9 E 3471-041 |Resistor 1/4wW 470 OHM 5
27,30
R 5,69 E 3471-041 |Resistor 1/4wW 470 OHM 5
26, 30
R 7,816 E 3222-041 |Resistor 1/4wW 2.2KOHM 4
19
R 7,8 E3222-041 |Resistor 1/4wW 2.2KOHM 2
R10,18,21| E3331-041 |Resistor 1/4wW 330 OHM 3
R 10,19 E3331-041 |Resistor 1/4wW 330 OHM 3
20
R 1 E 3332-041 |Resistor 1/4wW 3.3KOHM 1
R 11,27 E3102-041 |Resistor 1/4wW 1KOHM 2
R 12,28/ E3102-041 |Resistor 1/4wW 1KOHM 2
R 12| E3332-041 |Resistor 1/4wW 3.3KOHM 1
R 22| E3472-041 |Resistor 1/4wW 4.7KOHM 1
R 23| E3472-041 |Resistor 1/4wW 4.7KOHM 1
R 25| E3152-041 |Resistor 1/4wW 1.5KOHM 1
R 26| E3152-041 |Resistor 1/4wW 1.5KOHM 1
C 1| E2010-080 |El. Cap. 50MR-1 1 1
C23,5 E 2110-040 |C. Cap. F26Y5R1H102M0 5
7,21
C23,5 E 2110-040 |C. Cap. F26Y5R1H102M0 6
7,8,19
C 4] E?2147-160 |C. Cap. F26SL1H471K0 1 1
C 6| E2110-060 |C.Cap. F26Y5V1H10320 1 1
C 8,9 EZ2130-010 |[C.Cap. F26SL 1H300K0 2
C 9,10 E2130-010 |C.Cap. F26SL 1H300K0 2
C 10| E2010-615 |El. Cap. 25MR-10 1
C 11,12 EZ2022-625 |El. Cap. 25MR-22 2
C 1 E 2010-615 |El. Cap. 25MR-10 1
C 12,13 E?2022-625 |El. Cap. 25MR-22 2
C 13,14/ EZ2010-615 |El. Cap. 25MR-10 2
C 14,15 EZ2010-615 |El. Cap. 25MR-10 2
C 15,16 E?2047-525 |El. Cap. 25J5-4.7 2
C 16,18 E?2110-460 |C.Cap. F26Y5V1B104Z0 3
C 17,18) [E?2010-605 |El. Cap. 25JS5-10 2
CITIZEN 8




iDP-3110 Service Manual

PARTSLIST iDP-3110RF / PF
CONTROL BOARD
Ref. No. Parts No. Description -RF -PF
C 19,20, EZ2110-460 |C.Cap. F26Y5V1H10420 2
RA 1 E3473-180 |Re Array M9-1-473J] 1 1
RA 2,3 E 3681-060 |(Re Array M8-3-681J 2 2
RA 4 E3332-200 |[Re Array M5-1-332] 1
RA 4,5 E3332-200 |[Re Array M5-1-332] 2
DS 1 E5103-390 [Dip Switch KSD-04 1 1
CN 1 E 48000490 |Connector MOJD14 1 1
CN 2 E 4800-925 |Connector 5267-17AX 1 1
CN 3 E 48000470 |Conn. 17LE-13250-27 (D3AD) 1
(for Eur. Meter)
E 48000455 |Conn. 17LE-13250-27 (D3CD) 1
(for USA. Meter)

E 48000460 |Connector 571 E-40360-730B 1
CN 4 E 4800-825 |Connector 5267-06A 1 1
F 1 E 4005-590 |Fuse 5ST2A 1 1

E 4006-220  |Fuse Holder UF-0033#01 2 2
SW 1 E5105-330 [Slide Switch SN20202-1218 1 1

E 4010-410  |Heat Sink 50-0079 1 1

76G42141 Screw M3x8B 1 1
PARTSLIST iDP-3110RF/ PF
OPERATION PANEL
Ref. No. Parts No. Description Qty |Remarks
LED 1,2 E 480-290 LED SEL 2310E 2
SW 1,2 E5102-430 |SWITCH SKHHAN 2

E 4900-070  [Harness 25-0255 1
CITIZEN 9



iDP-3110 Service Manual

8. Exploded View

iDP-3110

10

CITIZEN



iDP-3110 Service Manual

9. OP PCB Parts Position

' SEC-1499
MAX8.5
E 480-290
310-03 SEL2310E |
LED1_“_
£4900-070
(25-0255) LEDZ o
Brown £5102-430 C[ -
Red o SKHHAN = B =N
Orange 1
Yellow O L]
Green C ~
Blue Sw2
(e} ,S,W1 o R
O rooare ’
AG294V-0 | |
MAX95
THIRD |TREATMENT MATERIAL Te
ANGLE MARK DATE REVISION REVNa
UNIT TOLERNNCE MOOEL . ™op PCB PARTS POSITION
o | PHE ANALE DP3110 (3110-03)
. SCALE CHECKD |[DESGNED |DRAWN PARTS No.
Japan CBM Corporation| >4 |l |

CITIZEN

11




iDP-3110 Service Manual

10. OP PCB Unit Schematic Diagram

CITIZEN 12



iDP-3110 Service Manual

11. Control Board Parts Position

CITIZEN 13



iDP-3110 Service Manual

Fi 9+00-03s¢ |§
A
(o]
[
— e
w A~
[o TN
oo~
-}
(72 B~
o 2
oo —~ o
<Aae d
a -
z
2
g
~ 32
re) Z |8
= kT2
= s B8
oy
E [=
£ e i
e o
o 3 2 LA |us
2 ¥ B |g°
= 57LE-40360-730B(D12) = -
K 5
(3] \ E
- w =
2 g | &
HE o
5| ©
3 d (&}
—IN\& W@ g |z | =
1 53 2 (o]
AN of B 1|2
CN3 RAL RAS
- o rﬁFi4.»__Mg.q.gagg—--nj:t;1—-1::"1ﬂ9th392ﬂ~——--jj'"ag'ﬂ3§§“"1 E% Q Al E gi
TRS RA7 M8-3-472) i z 2|2
] I
E &
<

R
} 74HC373 ] o5

ic6

O i & s ost
AN — [ o ksD-4
03— 151588

R28, BH884
(370 )

R25 EK 1.2 3 ¢
+ O

@ N 1IC | CBE9O9PC-2DU
A © CBH9OIPC-4DU

MB-3-472) . :
]
R

Heat sink
: 7 om

Heigh limit

Screw(76642141)

[&]
o 1c1 B00Rc10 R18
° oso1 ® @.cg
[Lf—-Ma4s73s-—- }—"mj‘_‘ D )
1 ~r

RA1 (vl

b ic3 >
ﬁ 74HCO4 ]E 74HC14

RA3 RA2
[T wme-assy ] [ [ Me-3681 |

TA1

TA2
Q
? LB1235 ' 5 LB1235 ]
CN2
cn
OO0 0000000000000 O0OO0
O C 5267-7A
* 7

Fuse Holder UF-0033z01

CITIZEN 14



iDP-3110 Service Manual

12. Control Board Circuit Diagram

CN3

GND
FG
OTR

CN4
6P
Vee
PWR LED
LINE

LINE LED

PE
GND

CN1 +

IC1
CBN909PC-2DU
CBHI09PC-4DU

ICS MAX232 Vee TA1
o, B B T R G, Lo
C15 + R P I R T/ % Y It 5
-] Ve + P53 Kl i3 ot
L7u T3l 35 P25 P82 R JW X “ . . " ,
tles .|le1 P51 P60 15> 0 2 02
€16 + T c18 PSO  pgy 2 SPe8 340 1 a
1 v % C4
47r ez z,10u 2 Pe3 50 3 wuh Bl 1 g
r “ WMN P&3 y [c <]
1 IC4
4 Psg 74HC14 18 J451213
RA3 TAZ
6580-4 LB1235
P72 {22 e | R = S
£1p33  pro (2 LSS Bl i
“0 P P71 e 2 Ll o[
Vee [T 5 7 [ Bl 1t )
.................... M P73 > s
277 ic3
T T 3 RESET vee Rt 74HCO4 ..E: 1451213
&1 T 4K <8_»m Tr2
1 W 2501802
I : P22 B Py 470 —
: Ic2 Tr3 r
zscz7es | Ry K o 76Ho00 2502785 2561202
Ve vee | 47K 25A175
D4 182076 vee 7 T v
— _ 1c6 P21
T PST520E el $F
RAI0 Vee : ol 74HCT74
™% g n
. T P g 2 T 2%, ° P80 P20
R28 KK cC§ c21 o]
T 103 19 B | T102
3 Nwﬂ;m\/ 227k | T = o I8 Eoouee
Te7
R18 330 R20 47K W\ P30 SC2785 Rz K _
S . .:.ﬁ 9 1IN0 = _,c P81 pOo wmxw ._lmomw
— A ce 4 TMHzE ] XT! «R13 47K 3R 29T
- i 3p dF——=—4x1 Pn 4K
D% =2 R4 47K
-20202-1218 A mm_u T||<[|.P x2 P02
CcC -
7 Ve 25605 v oy, PP - Hmouw
42
& @Nwm Tri2 SALL K3D-4
T2A K 2501802 ﬁw
a
“_Nmum d "mNWQ m_m_m«.n 3 \_
v* ® m*mwm_
C10 7 ) z THIRD |TREATMENT MATERAL T
10u 3 C14
ﬂ R24 ! ._m.mma: 10 ANGLE
10K 2 o4 TOLERANCE MODEL ary
702| [Cn|zD3® g2 UNIT
4 ERE| [ SRET |55 o PR T P30 | ()
2502985 2562765 - - SR ST P
Japan CBM Corporation

15

CITIZEN



iDP-3110 Service Manual

8uUSY

sT8

ACK

SEL

RESET

Vece
PWR LED
LINE

LINE LED

FF
GND

CN4

6P

IC1
CBY909PC- 20y
CBM09PC-4Dy a2
19-30
r-112.1418 W“.w PAL C6 TA1 Vo 17P
~— ke AdTk-¢ T4HC3T3 J vee 5l soo  LB1Z _IILPT Ve
! oo T T WV - U ¥ PP 53 pgy B 1t e e T | P . S| soLc
8 S MR WOVAR Y 1 b gty £ L) P57 3 W g 5 7 8
7 PN 7 6 S RAB 7155 3 ll 6l p5q P8O o7 SoL A
5 oY TSV TV ARTA i - T P50 gy 22 el 04 B T soL 8
S 5 L I RAS&lon S 38 p.3 Hvw— o 3 g
w Pt b3 BAT 7150 7 .w mm, 202 Ps3 [ : a3 SoL D
3 2 a1 RAS 3 o ! v
2 e R BT T Y IR £ il 2 _ 7étcr 18 g3
o) : TA2
Vee RAS 3.3K-8(6) a7 ., 6an3s LB1235
A~ g 17 . \
1 : 3 12 .13 2 Vee Vo P12 p7o (22 Jr. 3 QVHN N., 1 iy al 1@ soL G
! R3O A Wl - Py 28— 1 L SO JVAL S -1 PR 2| soL g
1 Mg 470 I8 3 mx R P71 A —12 ! £ Ml s B 2! soLF
: %mwmdﬂ o O 74HC74 Py B 17 B LIVPLANE] PR I 1l | so o
»r
0 skt 5% Vid L1 71 p32 a w_mmOo . Km.LS Tisun Y
xin_,, ...................... 1 o 81 p33 Wik Ve | ie e,
2 —L LB H P RS 2sD1802 s
N Vee P22 (& pt 470 PF SOL
ﬂi?J 1C2 Tré
=t h — b L bl R2 10K Tp 74Hc00 Tra | 2B1202¥p Yo Vo
[o5) Vee oowm 47K 2SANM7S Vee 25C2785
HBN H._ % c1
D4 182087 yec Ic8 Vee P21 [2¢ D2 T 1a
L e T PSTS20E N Veg Sl L=| MOTGR
R20 330 ,\J_Hmﬁ oK ol ,.\m
l.mj 2] al8 1 25 330
L WA s 112 P80 P20 = A=l LeD
R27 K +CB L ™ Tla] 47K 182 el Len -| v
1 1% 8 P i Ve 22¢ ¥ 31817 vee o
1IE P10 2 07 T ——=l|ve |5
R19 330 R18 47K L— Oy P02 7 SC2785  Ri1 K 21| op &
cc v
: L “p P81 pop 1 5% hmDNN &
0SC1 :
= T © Sy, cg  ATBMHzE—]XT1 o " o
swt 3op = —x HP [
SN-20202-1218 A €10 Hpb——T—S1x7 T | GND
° Voo 25G4885 vo 30P Vee =5 —
¥ M = _u H._DM
2SB683 g Y Vee
F1 R22 _ 4 GND
T2A 47K N&a%S @ bl
&
701 | mes oy &9
E K 15k3 asrs] pif 108 e
b o -3 THIRD | TREATMENT MATERAL T SCHEMATIC DIAGRAM
{0 c15 i 3 —PF
B " Tees ShYy 04 ANGLE _Awm_, oot 31 ’
0K Na%n 2| 034 B ONIT TOLERANCE MODEL any
S6E| |22+ 56E 22u - DMENSIN ANGLE 0P3110 (o
eSS - f , Al |oend [tEod PR3 o =
2503785 2507735 - _ Japan CBM Corporation

16

CITIZEN



	Title
	Contents
	1. How to remove the Upper Cover
	2. How to remove the Printer Mechanism
	3. How to remove the Control Board
	4. How to remove the Paper Holder
	5. How to remove the Operation Panel
	6. How to remove the Paper Hook
	7. Parts List
	8. Exploded View
	9. OP PCB Parts Position
	10. OP PCB Unit Schematic Diagram
	11. Control Board Parts Position
	12. Control Board Circuit Diagram

